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  ¶ß±Ó¬fl¡ ¬Û±Í¬Sê˜  ( B.D.P.) 
ø˙é¬±¬ı¯∏«±ôL ¬Û¬ı˛œé¬±  ( Term End Examination )  

øÎ¬À¸•§¬ı˛, 2015 › Ê≈√Ú, 2016 

¬ı̨¸±˚˛Ú ( Chemistry ) 
‹ø26√fl¡ ¬Û±Í¬Sê˜ ( Elective ) 

√̇ ˜ ¬ÛS ( 10th Paper : Organic Chemistry-I ) 

¸˜˚̨ – ≈√̋ ◊√√ ‚KI◊±¬  Û”Ì«̃ ±Ú – 50 

Time : 2 hours Full Marks : 50 
[ ˜±ÀÚ¬ı˛ &èQ – 70% ] 

Weightage of Marks : 70% 
¬Ûø¬ı˛ø˜Ó¬ › ˚Ô±˚Ô Î¬◊M√√À¬ı˛¬ı˛ Ê√Ú… ø¬ıÀ˙¯∏ ˜”˘… Œ√›˚˛± ˝√√À¬ıº 

’qX ¬ı±Ú±Ú, ’¬Ûø¬ı˛26√ißÓ¬± ¤¬ı— ’¬Ûø¬ı˛©®±¬ı˛ ˝√√ô¶±é¬À¬ı˛¬ı˛ Œé¬ÀS Ú•§¬ı˛ 
Œfl¡ÀÈ¬ ŒÚ›˚˛± ˝√√À¬ıº Î¬◊¬Û±ÀôL õ∂Àùü¬ı˛ ˜”˘…˜±Ú ¸”ø‰¬Ó¬ ’±ÀÂ√º 

  ø¬ıˆ¬±· - fl¡ 

1º Œ˚-Œfl¡±ÀÚ± ≈íøÈ¬ õ∂Àùü¬ı˛ Î¬◊M√√¬ı˛ ø√Ú – 10 × 2 = 20 

 [fl¡] [’]    

! 

C5H8’±Ìø¬ıfl¡ ¸—Àfl¡Ó¬ ø¬ıø˙©Ü ¤fl¡øÈ¬  ∆Ê√¬ı 
Œ˚ÃÀ·¬ı˛ ·Í¬Ú ø˘‡≈Ú ˚±¬ı˛ ˜ÀÒ… õ∂±˝◊√√̃ ±ø¬ı˛, 
Œ¸Àfl¡`¬±ø¬ı˛, È¬±¬ı˛ø¸˚˛±ø¬ı˛ › Œfl¡±˚˛±È¬±¬ı˛Ú±ø¬ı˛ 
fl¡±¬ı«Ú ¬Û¬ı˛˜±Ì≈ ’±ÀÂ√º 

  [’±] ìfl¡±¬ı«ÀÚÈ¬ ’±˚˛ÀÚ¬ı˛ 
  

! 

CO3
2"( ) øÓ¬ÚøÈ¬ ¬ıgÚ 

”√¬ı˛ÀQ¬ı˛ ˜±Ú ◊̋√√ ¸˜±Úºî ¬ı…±‡…± fl¡èÚº 

  [ ◊̋√√] 2-ø˜Ô±˝◊√√̆  ø¬ıÎ¬◊È¬-2-˝◊√√Ú › 2-ø˜Ô±˝◊√√̆  ø¬ıÎ¬◊È¬-1-
◊̋√√Ú-¤¬ı˛ ˜ÀÒ… Œfl¡±ÚƒøÈ¬ Œ¬ı˙œ ¸≈¶ö±˚œ̨ › Œfl¡Ú ∑ 

     4 + 3  + 3   

 [‡] ÚœÀ‰¬¬ı˛ ¬ı˛+¬Û±ôL¬ı˛&ø˘ ¸—‚øÈ¬Ó¬ fl¡èÚ – 

  (i)  1-Œ¬ıË±À˜±˝◊√√ÀÔÚ 

! 

" n-ø¬ıÎ¬◊ÀÈ¬Ú  

  (ii)  1-ø¬ıÎ¬◊øÈ¬Ú 

! 

" 1, 3-ø¬ıÎ¬◊È¬±Î¬±˝◊√√- ◊̋√√Ú 

  (iii)  Œ¬ıø?Ú

! 

" Ú…±¬ÛÔ…±ø˘Úº       

     3  + 3 + 4
 

 [·] [’]  1,2-Î¬±˝◊√√ø˜Ô±˝◊√√̆  ¸±˝◊√√Àflv¡±À √̋√À'ÀÚ¬ı˛ ¸fl¡˘ 

Œ‰¬˚˛±¬ı˛ ’Ì≈ø¬ıÚ…±¸&ø˘ ’ÇÚ fl¡èÚº Œfl¡±Úƒ 

’Ì≈ø¬ıÚ…±¸øÈ¬ ’øÒfl¡Ó¬¬ı˛ ¶ö±˚œ̨ › Œfl¡±ÚƒøÈ¬ 

¸¬ıÀ‰¬À˚˛ fl¡˜ ¶ö±˚œ̨ ∑  fl¡±¬ı˛Ì Î¬◊À~‡ fl¡èÚº 

  [’±] ÚœÀ‰¬¬ı˛ Œ˚Ã·&ø˘¬ı˛ ¬Û¬ı˛˜ ø¬ıÚ…±¸ ø˘‡≈Ú – 

   (i)  (S)-2-Œflv¡±À¬ı˛±Àõ∂±¬Û±Úø˚˛fl¡ ’…±ø¸Î¬ 

   (ii)  (2R, 3S)-È¬±¬ı˛È¬±ø¬ı˛fl¡ ’…±ø¸Î¬º 5 + 5 

 [‚] [’√] ÚœÀ‰¬¬ı˛ Œ˚Ã·&ø˘Àfl¡ fl¡±¬ı˛Ì¸˝√√ é¬±¬ı˛fl¡œ˚̨ 

Sê˜’Ú≈˚±˚œ̨ ¸±Ê√±Úº 
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    [’±]  ÚœÀ‰¬¬ı˛ Œ˚Ã·&ø˘Àfl¡ ˙Ú±Mê√ fl¡èÚº  

   (i) 
 

    
 

  (ii)  
 

    4 + 6   

   ø¬ıˆ¬±· - ‡¡ 

2º Œ˚-Œfl¡±ÀÚ± øÓ¬ÚøÈ¬ õ∂Àùü¬ı˛ Î¬◊M√√¬ı˛ ø√Ú – 6 × 3 = 18 

   [fl¡] øSê˚˛±Àfl¡Ã˙˘¸˝√√ øÚÀ‰¬¬ı˛ ø¬ıøSê˚˛±&ø˘ÀÓ¬ Œ˚ Œ˚Ã·/ 

Œ˚Ã·&ø˘ Î¬◊»¬Ûiß √̋√À¬ı Ó¬± ø˘‡≈Úº 

  (i)   

! 

(CH3)2C = CHCH3

C6H5CO3H
" # " " " " " 

 

  (ii)  

    3 + 3 

  [‡] È¬œfl¡± ø˘‡≈Ú – 

  (i) ŒÚ±Àˆ¬Ú±À·˘ ø¬ıøSê˚˛± 

  (ii) √̋√± ◊̋√√ÀE±À¬ı±À¬ı˛˙Ú ø¬ıøSê˚˛±º 3 + 3  

 [·] [’] IUPAC  ÛXøÓ¬ÀÓ¬ Ú±˜fl¡¬ı˛Ì fl¡èÚ –  
   (i)   

! 

CH3CH2CO2CH3 
   (ii)  

  (iii)  

  [’±] ¬ÚœÀ‰¬¬ı˛ ø¬ıøSê˚̨±˚˛ Î¬◊»¬Ûiß Œ˚Ã·øÈ¬¬ı˛ Ú±˜ › ·Í¬Ú 

¸—Àfl¡Ó¬ ø˘‡≈Ú ¤¬ı— ø¬ıøSê˚˛±øÈ¬¬ı˛ øSê˚˛±Àfl¡Ã˙˘ 

Œ√‡±Úº 

    3 + 3 

 [‚] [’] ëëøÙ¬Î¬◊˜…±ø¬ı˛fl¡ ’…±ø¸Î¬ › ˜…±À˘ ◊̋√√fl¡ ’…±ø¸ÀÎ¬¬ı˛ 

˜ÀÒ… ˜…±À˘ ◊̋√√fl¡ ’…±ø¸ÀÎ¬¬ı˛     

! 

Ka1 ˜±Ú  

øÙ¬Î¬◊˜…±ø¬ı˛fl¡ ’…±ø¸ÀÎ¬√¬ı˛ Ó≈¬˘Ú±˚˛ Œ¬ı˙œî —

¬ı…±‡…± fl¡èÚº 

  [’±] (

! 

±) È¬±¬ı˛È¬±ø¬ı˛fl¡ ’…±ø¸ÀÎ¬¬ı˛ Œ¬ı˛ø¸ø˜fl¡ ø˜|Ì 

ŒÔÀfl¡ fl¡œ Î¬◊¬Û±À˚˛ (+) È¬±¬ı˛È¬±ø¬ı˛fl¡ ’…±ø¸Î¬ › (–) 

È¬±¬ı˛È¬±ø¬ı˛fl¡ ’…±ø¸Î¬Àfl¡ ’±˘±√± fl¡¬ı˛± ˚±˚˛ ø˘‡≈Úº  

     3 + 3 
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 [„√√] [’] Ê√̆ œ˚̨ ◊̋√√Ô±ÚÀ˘ ¤fl¡øÈ¬ ≈√¬ı«˘ 

øÚÎ¬◊øflv¡›Ù¬±˝◊√√̆ , øfl¡c Î¬±˝◊√√ø˜Ô±˝◊√√̆  Ù¬¬ı˛˜±˜±˝◊√√Î¬ 

^±¬ıÀfl¡ ¤¬ı˛ øÚÎ¬◊øflv¡›øÙ¬ø˘ø¸øÈ¬ ¬ı‘øX ¬Û±˚˛º 

fl¡±¬ı˛Ì ¬ı…±‡…± fl¡èÚº 

  [’±] øÚ•ßø˘ø‡Ó¬ Œ˚Ã·&ø˘ÀÓ¬ ’õ∂øÓ¬¸˜ Œfl¡Àf¬ı̨ 

R/S-øÚÀ«√̇  fl¡èÚº 

   (i)  

   (ii)  

    (iii) 

 

       3 + 3 

 [‰¬] [’] Î¬◊√± √̋√¬ı˛Ì ¸˝√√À˚±À· øÎ¬ ƒ̆¸-’…±˘Î¬±¬ı˛ ø¬ıøSê˚˛±øÈ¬ 

¸—Àé¬À¬Û ø˘‡≈Úº 

  [’±]  ÚœÀ‰¬¬ı˛ ø¬ıøSê˚˛±˚˛ Œ˚Ã·&ø˘ ˙Ú±Mê√ fl¡èÚ– 

       

       

      3 + 3  

   ø¬ıˆ¬±· - ·¡ 

3º Œ˚-Œfl¡±ÀÚ± ‰¬±¬ı˛øÈ¬¬ õ∂Àùü¬ı˛ Î¬◊M√√¬ı˛ ø√Ú – 3 × 4 = 12 

 [fl¡] ÚœÀ‰¬¬ı˛ ø¬ıøSê˚˛±&ø˘ÀÓ¬ Î¬◊»¬Ûiß ≈̃‡… Œ˚Ã·&ø˘ ø˘‡≈Ú –  

  (i)  

  (ii)  

  (iii)  3   

 [‡] ’…±ø¸øÈ¬ø˘Ú › ˝◊√√øÔø˘Ú-¤¬ı˛ ˜ÀÒ… ¬ı˛±¸±˚˛øÚfl¡ 

¬ÛXøÓ¬ÀÓ¬ fl¡œˆ¬±À¬ı ¬Û±Ô«fl¡… øÚ¬ı˛+¬ÛÌ fl¡¬ı˛À¬ıÚ ∑  3  

 [·] ø¸¸ƒ-2-ø¬ıÎ¬◊È¬Ú ŒÔÀfl¡ fl¡œˆ¬±À¬ı ¬∏C±k-2-ø¬ıÎ¬◊øÈ¬Ú õ∂dÓ¬ 

fl¡¬ı˛± ˚±˚˛ Ó¬±¬ı˛ ¬ı˛±¸±˚˛øÚfl¡ ¬ÛXøÓ¬øÈ¬ ø˘‡≈Úº 3  
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 [‚] -¤¬ı˛ ˝√√± ◊̋√√ø¬ıËÎ¬±˝◊√√ÀÊ√̇ Ú¸ √̋√ 
·Í¬Ú ’±À˘±‰¬Ú± fl¡èÚº 3 

 [„√√] ÚœÀ‰¬¬ı˛ Œ˚Ã·&ø˘¬ı˛ ˜ÀÒ… Œfl¡±ÚƒøÈ¬ ’…±À¬ı˛±À˜øÈ¬fl¡, ÚÚ-
’…±À¬ı˛±À˜øÈ¬fl¡ › ’…±øKI◊’…±À¬ı˛±À˜øÈ¬fl¡ Ó¬± fl¡±¬ı˛Ì¸ √̋√ 
¬ı ≈̆Ú – 

  (i)  

  (ii)  

  (iii)  
     3 
 [‰¬] Î¬◊√± √̋√¬ı˛Ì¸˝√√   

! 

SNi  ø¬ıøSê˚˛±¬ı˛ ¸•ÛÀfl«¡ ’±À˘±‰¬Ú± 
fl¡èÚº  

    3  
 [Â√] ÚœÀ‰¬¬ı˛ Œ˚Ã·øÈ¬ ≈√√øÈ¬ øˆ¬iß ’…±˘øfl¡ÀÚ HBr ¸—À˚±Ê√Ú 

fl¡À¬ı˛ ¬Û±›˚˛± ˚±˚˛º  

 
  õ∂√M√√ Œ˚Ã·øÈ¬¬ı˛ IUPAC Ú±˜ ¤¬ı— ’…±˘øfl¡Ú ≈√øÈ¬¬ı˛ 

·Í¬Ú ¸—Àfl¡Ó¬ Î¬◊À~‡ fl¡èÚº 3 

 [Ê√] ÚœÀ‰¬¬ı˛ Œ˚Ã·øÈ¬¬ı˛ ¸Àe ·±Ï¬ˇ   

! 

NaO
18

H-¤¬ı˛ ø¬ıøSê˚˛± 
‚È¬±ÀÚ± ˝√√̆ º 

 
  (i) ø¬ıøSê˚˛±øÈ¬¬ı˛ Ú±˜ fl¡œ ∑ 
  (ii) ø¬ıøSê˚˛±Ê√±Ó¬ ¬Û√±Ô« fl¡œ √̋√À¬ı Ó¬± øSê˚˛±Àfl¡Ã˙˘¸ √̋√ 

Œ√‡±Úº  3 

( English Version ) 
Special credit will be given for precise and correct 

answer. Marks will be deducted for spelling 
mistakes, untidiness and illegible handwriting. 
The figures in the margin indicate full marks. 

Group-A 

1. Answer any two questions  : 10 × 2 = 20 

(A) (a) Write the structure of an organic 

compound having molecular formula 

  

! 

C5H8 which have primary, secondary, 

tertiary and quaternary carbon atom. 

 (b) "Three bond distance values of 

carbonate ion 
  

! 

CO3
2"# 

$ 
% & 

' 
(  are same." 

Explain. 

 (c) Which is more stable between               

2-methyl but-2-ene and 2-methyl but-1-

ene and why ? 4 + 3 + 3 

(B) Carry out the following conversions :  

 (i) 1-Bromoethane

! 

" n-Butane 

 (ii) 1-Butene 

! 

" 1, 3-Butadiene     

 (iii) Benzene 

! 

" Naphthalene.  3 + 3 + 4
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(C) (a) Draw the all chair conformations of      

1, 2-dimethyl-cyclohexane. Which one 

is more stable and which is the least 

stable among them ? Give reasons. 

 (b) Write the absolute configurations of the 

following compounds : 

  (i) (S)-2-chloropropanoic acid 

  (ii) (2R, 3S)-Tertaric acid. 5 + 5 

(D) (a) Arrange the following compounds 

according to their basicity. Give 

reasons. 

 

 (b) Identify the following compounds : 

  (i) 
 

    
 

  (ii) 
 

    4 + 6 

Group -B 

2. Answer any three questions : 6 × 3 = 18 

(A) Write the product(s) formed in the following 

reactions with proper reaction mechanism. 

 (i)   

! 

(CH3)2C = CHCH3

C6H5CO3H
" # " " " " " 

 

 (ii)  

    3 + 3 

(B) Write short notes on the following : 

 (i) Knoevenagel reaction 

 (ii) Hydroboration reaction. 3 + 3 

(C) (a) Name the following in IUPAC rule : 

  (i)   

! 

CH3CH2CO2CH3 

  (ii)  
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  (iii)  

 (b) Write the name and structure of the 

product formed in the following 

reaction and give reaction mechanism 

thereof. 

              

    3 + 3 

(D) (a) "    

! 

Ka1 value for maleic acid is greater 

than that of fumaric acid." Explain. 

 (b) How would you separate (+) tartaric 

acid and (–) tartaric acid from a recemic  

mixture of (

! 

±) tartaric acid. 3 + 3 

(E) (a) " acts as a weak nucleophile in 

aqueous ethanol but its nucleophilicity 

increases in dimethyl formamide." Give 

reason. 

 (b) Assign R/S-descriptors for the Chiral 

centres present in the following 

compounds : 

  (i)  

  (ii)  

  (iii) 

 3 + 3

 

(F) (a) Discuss briefly Dields-Alder reaction 

with an example.         

 (b) Identify the products in the following 

reactions : 

      

     

        3 + 3 
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Group-C 

3. Answer any four questions : 3 × 4 = 12 

 (A) Write down the major products in the 

following reactions : 

  (i)  

  (ii)  

  (iii) 
 3

 

 (B) How do you chemically differentiate 

acetylene and ethylene ? 3 

 (C) Write the chemical process for the 

conversion of cis-2-butene to trans-2-

butene. 3 

 (D) Discuss the structures with 

hybridisation of  

    3 

 (E) Write with reason which of the following 

compounds is aromatic, non-aromatic 

and anti-aromatic compound. 

  (i)  

  (ii)  

  (iii)  3 

 (F) Describe the   

! 

SNi  reaction with an 

example. 3 

 (G) The following compound can be 

obtained by addition of HBr on two 

different alkenes. 

 

  Write IUPAC name of the above 

compound and the structures of the 

alkenes. 3 
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 (H) The following compound is treated with 

conc.   

! 

NaO
18

H solution. 

 

  (i) Name the above reaction. 

  (ii) Show the product of the above 

reaction with mechanism. 3     

    


